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1.

3.

e @ TROw

4. When sodr(fu'nI is disS’oIVed m\

/5B

Which one of the . fbllouiing -

' techniques is used . in the

ufacture of aluminitim frém
ixite?

(@) Reduction with magnesium

(b) Reduction with coy;\e_l_f
(c) Electrolytic reduction

(d) Reduction with iron

‘Which one of the following is the

softest. acid according to HSAB
principle?

(@) Pb?*
(b) Fe?*.
(c) Cu?*

(d) Cut

Which oneqof:the followmg is the
- most: basxc omﬁe'-’ -

(a) Ga203

() n0"

(@ Ti;05. |
‘:- RN 5 o '%

liquid ammoma 1t will produce

(a) ammomurn\lhn

(b)a.rmde 1on e
(c) ammoniated e?%ﬁoni_ “

o '(d)fsod‘ium jont \§

T

o

5.

}\‘r'pi\«,\‘\‘

“What are the number of protons,

= ;,number of electrons and number
‘of ‘neutrons respectively in. a

“~amolecule of heavy water?

(@ 10, 10, 10

(b) 8, 10, 11

(¢ 12, 10, 10

(d 12, 10, 12

In which one of the following

pairs of orbitals does overlapping

result in hyperconjugation?

{a) 6o

. (b) p—p

¢ op

(d) mm

9

Which quantum number gives

- the . - information~ = abeout
degenerate orbltals‘?

o (a) Pl’lm:lpal quantum number
(b) Azunuthal Quantum number

{c) Magnetlc quantum number

. (d): Spm quantum number

2 .
) 4 0 O 4%

R

3

- (d) ;;,_5.‘ ‘

. Which of ‘the followlng sets ‘of
numbers. is_ not

quantum

, posmble?

n. 1 m- S.

@ 3 2.

3 4%
0 -%

c) 3

AR AR L ok IR N MR XN ol o Srrot G AR R JOR i T A A ST IV, T s

R R i

e e
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1. T ¥ YRt v Paw d

mﬁ#%ﬂwmm
mﬁmam%?

(@) ﬁ:ﬁﬁm%mm
(b) FF F WY EEH

(o) Pt s
(d) o b ww o

HSABﬂmaés wgen, Pttty &
@rﬁa-m@qgaﬂm%?

(@) Pb?*
(b} Fe2*
(c) Ccu?*
(d) cu*

. Freafofem # 3 WF-w w w@ite

AR S 37
(@ Gay03

(b) Iny0

(c) T10

(d) T1,03

v
aﬁmw,w%?_

(a)'am’rﬁaﬁatm
(b) THIES M
(c) RS A

- (d) wifeam IR

/5-B

. go-me (30 ) F @ ) F e,
B Wwwﬁmm g

(@ 10, 10, 10
(b) 8, 10, 11

(¢ .12, 10, 10,

d) 12, 10, 12

. e & ¥ fre T FEw-gm ¥
: aﬁwwmwﬁwaﬁaw@m?

(a) oc-6
(b) p-p
(c) o-p
(d) n-n

. mmmﬁ%aﬁﬁmmm

T g et #7

(@) e Wiz e

(b) Toreh wien v
(c) TN wiew weT -

(d) TEISEYT WICH W&

. fE ¥ @ BRw ww e W

WE AR

n Il m s .
@ 3 2 -2 +%
b)) 4 0 0 +%.
g 3 2 =3 +%
@ 5 3 0 -%

" [P.T.0.
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9. The

10.

11.

v ,(d) |

12,

/5-B

ionization ~  energy - of
hydrogen .atom is 13-6eV. The
second ionization energy of He
would be

(a) 13-6 eV

(b) 27-2eV
() 40.8 eV
(d) 54-4 eV ’

Thé o:ddatib‘hn n;ir;iber of P in

Mg2P207 is

(@) +5

) +3

(c) +2

(d) -3

Which of the followmg species

has the maximum bond length?
(@) O, |
) 0} "
(c) O3 o
- :

s »

The element with atomic number
35 bglongs to

(a) d-block
(b) f-block
(¢ p-block =~ &
(d) s-block

.13,

14.

" _(d) Bond energy—

150

In aluminium sulphate, the
valency - of aluminium is 3 and

-that of sulphate ion is 2. The

molecular formula of aluminium

-sulphate would be

(a) AlSO,

(b) Al3(SO4)3
(c) Al3(SOy4), |
(d) Aly(SO4)q

'Which of the following statements

is incorrect?
(a) Electronegativity—

F, > Cl, > Br,
(b) Electron afﬁnitY—— |

C12 > F2 > BI‘2

(c) Oxidising power—

F2 > Clz > Br2
.Fa > Cly > Br,

The number of neutrons in
deuterium is '

(0) 2
(b) 3

{0 1

16.

(dj O

'PH of 0-001 N NaOH solution is

(@) 11

() 3

) 7
d 14

o ngops

A

N B, A OTAN o A PRI G S

P QP ——

R A TR
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9, TRESW WY Ht AT fvm
- 13-6eV ®1 He #i @l Smefiamw

10.

T gt

(@) 136 eV
(b) 27-2eV
() 40-8eV |

(d) 54-4eV

Mg2P207 ﬁ P‘ﬁ mmm%

(@) +5.

b) +3

o) +2

11.

12.

/5-B

(d) -3
1 yonfemt # @ e v it
T T 7 |
(@ O, |

(b) o}

() 03

(d) o3~

Y Fen 35 e T T |
() d-sits & |
(b) f-=lish A

(c) p-=sth#

(d) s-sars &

13.

gifan e § tghifem 6
TSHAl 3 § 9T ke A h

a2 ¥ Yghfem wedw @

14,
- (a) Torga-TomeRT—

(@) AlSO,4

(b) Al3(SO4)3
(c) Al3SO04)2
(d) Aly(SO4)q

e 3 Be-w U a7 27

F2,> Clz > BI‘2

(o) WA oA

-18.

Cly >F4 >Br,

fc) TaRdieRuT HaT—
| Fy >Cl, >Bry

(d) Ei%Fl m'f—-Fz > C12 > BI’2

sgdifem § =i A wew §

(a) 2

o
(c) 1 '
@0

16. 0-001 N NaOH &\& &1 pH 8
(@) 11

(b) 3
(c) 7
(d) 14

[P.T.O.
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'17. Therate of a feactiofiﬁaepends’ bn

18.

19,

/5-B

(@) enthalpy 6f rea;ct.i'qryl;pnly

(b) entropy and temperature of
- reaction only

l’(c) enthalpy and ,tempér_ature of
reaction only B

(d) ‘enthalpy;y entropy and
temperature of reaction

What is the pH of a buffer
solution containing 0-1 M: acetic
acid (pK, =4-745) and 0-01 M
sodium acetate?

(@) 5-745

(b) 4-745
(c) 3-745
(d) 2-745
v R
For the equilibrium -

Fe {8+ H;0 (g) = FeO ) +H @

what s are the numbers of

components, phases and degrees .
" of freedom respectively?

: ¥ o
@ 3,2, 3

M) 2,3,3
(c) 3, 3,

(d) /2, 2, 3 2 :;)it S

W

20.

21.

£ AB
4
log (S) /
(/—> .

The plot given above shows the
relation between (1/7T) and log(S),
where S is the solubility of an
electrolyte AB and T is the

‘temperature in kelvin. What

conclusion can be drawn from
the plot?

(a) Dissolution 'of AB is -

exothermic
(b) Dissolution of AB s
'~ endothermic )
(c) Solubility of AB increases
with temperature :
(d) Nothing can be predicted

Which of the following
thermodynamical relations are

correct for one mole of an ideal

gas? |

- [22) -
(e
3. (a_ac;‘/_v)T >0
e

Select the correct answer using
the code given below :

" Code :

(@) 1 and 4
() 1 and 2

") 2 and 3

(d) 3 and 4

e g
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17. aﬁﬁm T ot foflt st 27 &

(@) ¥ e < et w

Ri8

() e i B e ok
oW '

~(d)31ﬁ®mﬁ@m‘l e sl

18.

" A W

0-1 M ¥R® 3w (pK, = 4-745)
R 0-01 M e ARz = Rrem
¥ s I e w1 pH Tt fme?

(a) 5.745

(b) 4-745

(o) 3-745

19.

/5B

‘(d). 2-745 -

QIR T
Fe (s)+ Hy0 ([g) = FeO (s)+ Hy g

%%mqaﬁﬁm JrEEe iR
@ Hife wu: e

(@ 3,2,3

M) 2,3, 3

(¢ 3,3,2

(d)2: 2’ 3

() ¥ e & o oo

- 20,

- (1/T)—>

- s@w aﬁ@ (1/T) 7 logiS) ¥ wEm

21.

gerg H Yelfa war §, s@is S
foE-sreem AB #i g & 3R T

'%f?eﬁﬁm%‘l M@ q T et
ﬁmmm%? ‘

(@) wmﬁmmﬁq‘r%

(b) AB W faerA St}

(c) a9 F | AB it o st ®
(@) =% ft @i a& fem W

HHal 8

@ﬁamm%mﬁm@aﬁ

%m-ﬁwmﬁmwuaa%?
(U ‘

L (%) -0

(0H

© 2, ——) =0

v )y

(9C
 3. a—C-‘L) >0

v )y

o (B, -0

ﬁﬁ'{ﬂw@ﬁmﬁaﬁm
g
wE:
(@) 134
(b) 132
) 23R 3
(@) 334

[P.T.O.
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22.

At 300 K, 2 moles of an ideal gas
expand reversibly - and

isothermally from 1L to 10L.

What is the entropy change for
the process?

(R=2calK™! mol™! and In10=2-303)

23.
- of water in equilibrium with ice .
at constant temperature? ’

24.

/5-B

(a} 9.2cal Kdﬁml"l .
(b) 4-6calK™ mol™l

(d) 0

What is the molar heat capacity

(@ 0
®) 3.73JK-! mol!

(c) 37-3JK™ mel™!

 (d) Infinity

One mole of an ideal gas expands
reversibly and isothermally from
10 L to 100 L at 400 K. What is
the enthalpy change in this
process?

(@ -10-2kJ .
(b)) -5-1kJ
(C) —Q'Sk\.} S q;
(d) 0

25. Consider the following :

® ® ® ‘
CH3CHCH; CH;CHOCH; CHRCHCOCH;

26.

I I I/

What is the correct order of their
stability?

(@) I>0O>1I

(b) M>>I
(c) MI>I1>11
(d) OsI>m

Consider the
compounds :

following

OOH COOH OOH
CHj .
CHs
I I m

What is the correct order of their
acidity?

(@) II>I>II
(b) HI$I>II

(c) O>Hm>I

o (d) W>Io>1
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22. 300 K W 2 Wt oned Aw Sepwoli: 25, P w R R
Td gWaMEa: 1L @ 10L ¥ WER

FEt 81 3 WA § T qiEdT CH38HCH3 CH38HOCH3 cmﬁncocn3
e | I o m
. (R=2calK 1 mol™! 3R In10=2-303) ; : »
: % TR &1 wEl 9 R/ 37
* (@) 9.2calK™! mol"ly : :
' (@) I>1>11
(b) 4-6calK™! mol™l
() 2-76calK~! mol™! (b) m>II>I
(d) 0 | o (¢ mWM>I>I
23. R av W graEEn # 99 W WS (d) o>I>1I
H Acfta Feaia @ 87 |
(a) O

| ' 26, s A w Rrew SR -
(b) 3-73JK 1 mol™!

| ” OOH = OOH ~00H
' (@]
() 37.-3JK 'mol™! , . @ (&r“ 2
| | “CH, |
\ k CHj '
‘ I I /14

(d) =
24. 400K W ki A oned Nw | o s w2
Ioprofiga: W gRaMEa: 10L @ :
100L # yor #=ft B @ owem X , |
el deda F A (@ I>I>II
(@ -10-2kJ () W>I>H
(h) -5-1kJ - . i
(c I>II>1
c) -2-5kJ
(d 0 (@ mr>imas>i1

/5B 9 o ~ [P.T.O.
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27.

In the reaction e
o _
1) CH3MgBr/ 0“231‘2 R
2) Hz0" -

4 what is the product X ?

28.

/5B

'HO_ CHj
e

CHs
(b) {
Hj
(o) CHj
H,

(d)

In the req‘,ction

. .
CH—(L—CH} ——;%;—if—a X
3

what is the:‘productX ?

(@) (Hz—CH,—C—CH, -

CH,4

H—C—CH;
CHy

(b) cH

H <
CH—C—~CHj.
Hy

(c)] CHy=

. #

CHz—CH—CH—CH3
OCH&

(@)

10

29, Consider

the ., following

‘statements :
Acetoacetic ester may be used for
the synthesis of

1. o o,B-unsaturated acids

2.  B-keto acids

3. methyl ketones

4. 3-pentanone

Which of the above statements
are correct?

(@ 1, 2 and 3 only

(b) 1, 2 and 4 only

{c) 3 and 4 only

{d: 1, 2, 3 and 4

30. Consider the following bases :
OH- NH; HC=C~ CH,CH;
1o m v
What is the correct order of their
strength?.
(@ IV>IO>I>I
(b) I>HI>0>IV
(€ IV>mM>0>I
d I>H>H>IV

Wilkinson’s catalyst
(a) is coordinatively saturated

(b) the

31.

does : not
18-electron rule

obey

(c) +is used for. oxidation of
alcohols

is an Ir complex used in the
preparation of important
pharmaceutical products

(@)
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28.

/5-B

1) CHgMgBr/ QuzBrz

21 HyO" > X

A,

H e XwTR?

- HQ CHs
e
M en,
(b) ,
. H,
(©) &Ha
CHjy

H3C )
(d) .
7 Hj

i
CH2——CH—i——CH ) CHsI;’
2) H30
# 3 X ER:T 142

(@) (iIHz—-CHz—C—CH;
CHg
0
(b) CH3—CH—l(")—CH3M )
. H
(c) CH,;=CH—C—CHj;
iy

- (d) CH;=CH—CH—CH,

C’Hs )

11

29; ﬁw%mmwﬁaum

Q@ﬂaﬁ@ﬂﬁmt{m%mﬁ

1. o,B-3gH T T GTATT W
2. B awEl W U W TR
3. AfYer At F TN W GRd
4, 3%@#%@3&@%
T § ¥ B T v §

(@) a1, 2 3R 3

(b) ¥ 1, 2 3R 4

(c) Faw 3 3R 4

(d 1,2, 334

30, frefifen s w Rem AR ;

OH~ NH3; HC=C~ CH3CHj;
I I m IV

Eﬁmmaﬂww%?

{a) IV>O>HM>I

(b) I>II>1I>IV

¢ IV>mM>O>I

(@ I>0>mM>I

31. fafera o= |

(o) WA EEE

(b) 18-FeFiA Fam w1 wew T
Tl B o

() ¥rial ¥ stwfem ¥ R
S Y AR ST g

(d) T Ir'® GFd 2, R swm

o wEet-efey Iadt & Pl §
e

[P.T. 0.
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32.

33.

34.

35.

i (o)

/5-B

What is the product obtainedon
reaction between ethylene and
Alee 6"

(@) AlMe,(n-pt);
(b) Al, (ethylene)s
(c) Al, (ethylene);

(d) AlHg

An exémple of a closo-carborane

is
(a) CB,HZ"

(b) CB,HZ
() CB,H3
(d) CB,HZ"

What does Green Chemistry in

' terms of environment mean?

(a) Greenhouse effé;’:t

(b) Reactibné- related to the
- depletion of ozone layer

(c) Photosynthetic reactions in

. plants . .
(d) Reduction in the use and
production of hagardous

chemicals .

e g

Sulphur d1ox1de levels in the
atmosphere cah be reduced by
using :
(a) catalytic
- industry

static" electnmtih to attract it
in factory chimneys

cbnverters in

()

more efficierit 'eaéﬁ;s“engines
(d)

low-sulphur fuels »

12

36.

37.

38.

39.

What is  the IUPAC name " of
[Ni(NH ), [2* [NiCl, |22

(@) Tetrachloronickel(l])

tetraaminenickel(ll)

(b) Tetraaminenickel(Il)
tetrachloronickel(ll)

(c) Tetraaminenickel(ll)
tetrachloromckelate(ll)

(d) Tetrachloromckel(ll)
tetraammemckelate(l[)

What type of isomerism  is
present in the pair of
complexes [CoNH;)}sBr]SO, and
[ColNH3)5S04 Br?

(a) Linkage isomerism
(b) Ligand isomerism
(c) Ionization isomerism

(d) Coordination isomerism

The reaction between metallic
silver and aqueous NaCN
forming a soluble = complex

occurs in the presence of
(a) nitrogen

(b) helium

(c) argon

(d) oxygen

The complexes [CofNH ;)5 (NO,)]%*
and [CoNH 3)5(ONO)]** are called
(a) ionization isomers

(b) linkage isomers

{c) coordination isomers

(d) geom“etriéal isomers
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32. q&?ﬁqwmzm%ﬁax&mﬁ

33.

34.

mﬁmmﬁw%? .

(@) AlgMe 4fn-pr)y
(b) Aly(TRrRf) g

(c) Aly(uRrefi) g
(d) AloHg -

P & A TR

%1 T IITE 37

(@) CB4HZ"
(b) CB4HE"
) CB4Hj3
(d) CB4H2‘

T ¥ wl & 's&amwﬁ?ﬁ kol
T aead 27

(a) a‘lﬂsmrm
(b) AEH Wa EEE ¥ Tl
arfrferamd

(o) mﬁﬁm—é&éﬁﬁaﬁmﬁ

35.

/5-B

(d) TEATS TOEfE S SwEm
w3 i i

mﬁwmm‘ww\

frafafes § & fre® @ @ wn
forun S wehar 37

(@) 3 F I TadE

(b) fw - fmfeEt & @*
el 3g R fagg

(c) e qEa I FR T
(d) e wew wEn ae a9

13

{d) TEErtRe (1)

37

38.

39.

(b)Y (1)

- 86. [NiNH;3)41**[NiCI4J*~ 1 [UPAC

I T 27

' {a) %;mﬁﬂﬁ'ard (1)

Trfiafea (11)

TmaAe (1)
(c) oAt (11)
TR (1)

gt (11)

[Co(NH3)sBrjSO, @
[Co(NH 3)5S0 4 Br ﬁ fra wr i
goTEIE 37 :

(a) U GUIEEED

(b) G gETEEEAl

(c) AT FHTET

(d) B9 e

qfe® Wa @ S NaCN, 1

il & o B by, fefiiea
# A foraeht safRfdy & s 27

(a) ERSH

(b) dferm
(c) 3mA |
(d) Htfom

[CoNH3)sNO2)** @
[ColNH 3)5(ONO)[>* w1 Feemmat 87
() S ETET

(b) T WAET

() BH] QTR

(d) S quwERE

[P.T.O.



www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

40..

41.

" 43.

/5

Which of the following represeﬁts i

heavy water?
(a) Water at 277 K -

(b) Water containing lead salts

(¢ Deu_temim oxide

(d) Protium oxide

In which “of the following
compounds does  hydrogen
exhibit a negative oxidation
state?

(@) LiH

(b) H,0 = /

(c) HCl

(d) None of the apove ‘

F‘ormula of épsom sait 1s

“(a) Znso, - 7HQQ

(b) Na 2SO4 . lon@n
(€) Nazcda 10H20 Y

(d) MgSO,-TH,0

Formuia of W‘abhmg soda’ is

(@) Na2C03

i)

(b} Na,COs -{%;O I
(c) NaCO,-TH,0 %

14

45.

46.

744, The half-life. period of a
radioactive -isotope is 10

minutes. The time for 99-9%
disintegration would be-

(@) 50 minutes

" (b) 100 minutes

(c) 1000 minutes

.(d) None of the above

The essential constituent used in

photographic plate and film is
(@) AgNO;3
(b) Ag,S,0;
(c) AgBr
(d) AgyCO,3
The IUPAC name for the
compound _
CH3—-CH=CH—(|2H—CH3
: Cm=CH
is

(a) 4-ethyl 2-pentene
(b) 1-ethy1—3—methyl—2 -butane
{c) 3-methylhex-4-en-1-yne

(d) 4-methyl-2-hexen-5-yne

47.

Two carbon atems - in - ethane
molecule are

(a) sp hybndlsed .

(b) sp? hybndls';ed

(¢) ‘sp hybridiséd
(d} not hybridised

R e T S
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40. T & & FH- Wi v qEmar}?

41.

42.

(@) S 27T KR -

(b) T A oo H afefy d

(c) LiEm ATass
(d) Wifeam g

frer # A Aew A A EEeeH
HUCHE A gea feaemm 87

(@) LiH

(B) HO

(¢ HCL.
(d) THABETE

TN Hive H G R

(a) ZnSO4-THL0 -
(b) Na,SO,-10H,0
(¢) NayCOj3-10H,0

43, =R G g}

/8

(a) -Na 2C03
{b) Nach3 'H20
(C)‘ N32C03.-7H20

(d) Na 2003 . 10H20

15

44, ﬁwﬁmmm@nﬁmwﬁ- x
Sltame 10 fime R 999%@%
forg v

(a) 50 fre
(b 100 fFE
(c) 1000 fiFe
(d) FRA AT

FrETR § HW A AW A @ q
et ot 7% s EaE R

(@) AgNOg |

(b) AgyS.03 A

(c) AgBr |

(d) Ag2CO3

45.

' C=CH

IUPAC 79 2

M @

(@) 4-3uEw-2-Uf=A

@) 1-T-3-feme-2-pR
(c) Sﬁmsa%m4-s=rlam
(d) 4&%2%@3531@

47. sﬁﬂwﬁw&ﬁm
(@) sp2m@%§
(b) sp® TEERT B §
© spEHadRE
(d) SRR E

[P.T.O.
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48 Which of the followiﬁg exerts +1 .

49,

50.

effect?

(a) CHz;—
(b) Cl—
() —C=N
(d) —NO,

3 §w~

Which enzyrfié converts ‘glucose
and fructose both into ethanol?

(a) Diastase i~
B) Invertase
(c) Zymase
(d) Maltase

Acetic acid dissolved in benzene
shows a molecular mass of

(a)' 3O”ﬁ1 S
CHCI
() 120

(d) 20 f-s;‘ :

51. ,What is  correct about the

/S

' followmé structure?

/C=C

kH—CHQ

(a) It can show four geometncal
isomers = %

(b) Its conﬁgu;rahan is E
(c) 1t is Zisomer |

s S Et"'fxz, :
(d) 1t can also exhibi

isomerism: i %

52. For n moles~ ‘of real gas, the

§3.

54.

3 55.

- correct express1on of van der
Waals’ equation is

() PV =nRT

(b) |P+ ;,%) (V - b= nRT

) | P+ %;3)(\‘/‘— nb) = AnRT

?d) »'—P + a(;)z}v nb]- nRT

The relatlonshlp between ‘AG and
AS is .

(a) AG=AS+ TAH
(b) AS=AG-TAH

AS=AG
AH=———
(c) T
” AS_AH AG

T

What is the osmot1c pressure of

M/10 glucose solution at 27 °C?
(a) 1 atmosphere |

(b} 2 atmospheres

(c) 2 463 atmospheres

- (d) 3 23 atmospheres .

Molten NaCl conducts electnmty
due to the presénce of -

(a) ions .
(b) electrons
(c) protons '

(d) free molecules

pom 4y g

L

P L

e D S N

e e G —— T O Wm0 11 78 YOV

B Rt

, o e

&t
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480

49.

50.

)

/5

foer 3 & A +1 T Tt &7
(@ CHz— |
(b) Cl—

fc) —C=N ‘

mmﬂﬁaﬁwﬁﬁm
UG

(@) ?0

(b) 60

(c) 120 .

(d) 240 :
Frfoitaa g & R = ad 87

H_CH(CHy),

/C—.C CH—CH2 o
(@ T TR R W R
e 3
(b) T = E R
(c) aszwmaﬁ%

(d)uswr&mmmamxﬁﬁm
TFa Y ~

17

52. AW arhE fg & fry A

" fa) PV =nRT.
([ aY.
—_— - b)=nRT

.2

)
(c) P+"729)(V — nb) = AnRT

(@ ~P+a(";)2][v nb]= nRT

: 53 ;.AGEéi ASk I TR

(@) AG=AS+TAH
(b)) AS=AG-TAH

o AS~AG
AH =
(c) T

@ AS= A{{TAG

B4 M/ 1O TERS i WO G

27 °C R H1 §7 .
(o) 1T
(b) 2arposs
(c) 2-463 agAvEAT - -
(d) 3-23 FgEvEAE

55, NaClfiq &t sufefa & wrw

T 1 e T @
(a) S

(b) TTEH

(c) WH

@) T

[P.T.O.
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56. Flow of blood is ‘stopped 'by

57.

58.

59. The ratio %7 t;" foi‘fthe ﬁrs’t’-ord&r '

/5

putting FeCl; because

(a) blood begins to flow:in the
‘ opp031te d1rect10n

' (b) blood reacts and forms sohd

(c) blood coagulates -

(d) ‘FeClj; closes the blood veins

At constant temperature, the
solubility of a gas is directly
proportional to the pressure at
which it is dissolved, the law is
called

(a) Distributir)rr'Iaw,

(b) Henry’s‘la‘wr _
(c)] Ostwald’s dﬂﬁtion law
(d) RaOulr’sfl(ar\"’i/L B

‘Formalin is thempeous solution

of o
(a) formic acid

() formaldehyde -
(c) ﬂuori‘ftg |

(d) furan -.}r,;: SET L b

2
reaction 18 BRI A

(@) 3 A

(c 2
(d) 7

18

60. Which of the following electrolytes

61.

62.

will be the most effective in
coagulation of gold sol?

(a) NaNOj,
(b) K;[Fe(CN)g]
(c) NazPO,

(d) MgCl,

Which of the
paramagnetic?

following is

(@) CO
(b) NO

(c) Og’

(d) ON- A

Which of the followmg cannot be
formed?

(a) He?*

(b). He*

“(c) He

(d) He,

63. The ac1d1c strength of boron

halides is in the order of
(d) BF4 >.BCIQ A>vBBr3
(b) BBrs > BClg > BF;
(c) BCl3 > BF; > BBr,
(d) BCl; > BBr3 > BF;
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56. FeCly % @ ¥ T FI T & ST

? ifn
(@) Wﬁwﬁaﬁanﬁazﬁm%

(b)mﬁmm%aﬂtaam
arcn%

) R d

57.

(d) FeCl; Th AfTEAl H T8 W
I ‘

f@tmm%&ﬁﬂa@tﬁﬁﬁﬁw.
g % T ¥ ATEGI A 31"

- fam wEam ®

58.

59.

/5

(a) Tomor frem

() 0w e

() IiezaTes F ag fram
(d) T3ee T fam

whifer e o1 el faerA @
(a) wiE e
(b) wHcEETES
() el

(d)

maﬁﬁaﬁ%mﬁn ty AU
B & \ o

(@) 3

(b) S

(c) 2

(d) 7

63

60.

61,

Fre Agh vaed A AW w
Ties i & fre samar werelt g

(a) NaNO 3 |

b) K3lFeCN)g]

{c) NagPO4

(d) MgCly.

T ¥ A gy 37
(@ CO

(b) NO

: (c) O%’

@ eN

O3

vzaﬁﬁﬁqﬁmm%?

' fa) He2+

(b) He*

(c) He

(@) He,

. 9K ¥egE Y ercliEa e wa 8 |

(a) ‘BF3 > BC}.3 > BBI‘3

(b) ‘BBI'3' > BC].3 > BF3

) (C) BCfg > BF3 > BBI‘3

(d) BCl3 > BBI‘3 > BF3

[P.T.O.
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64. The brown-ring for the' test of
'NO3 is-due to the formation of

(@) [Fe(H,0)6]**

(b) [Fe(NO)(CN)s)**
(c) [Fe(H,0)sNOJ?**
(d)- [Fe(H,0)(NO)s |**

65. The most common oxidation |

states of Ce are
@ +2,+3
(b) +2,+4
fc) +3,+4
(d +3,+5 -

66. The IUPAC name of LiAlH, is
(a) lithium aluminium hydride
(b) lithium tetrahydndo-
alumlnate(III)'
(c) alummlum tetrahydride

r.’:‘r;, st Y I!thmm .

(d) tetrahydndo-alummate
lithium(I)

67. The IUPAC name ofy
OH
CN

Br
- is 5 ‘,ﬁ . .

(a) - 1-hydroxy—2 cyano-4 bromo-
benzene :

(b) l-cyano- —hydr%y -5- bromo-
benzene

(c) 2-hydroxy-5 —bron‘ﬁ;benzene
carbonitrile

(d) 1-cyano-3-brdtn015h§nol

/5

68, Vitamin B;, is a complex of

(a) cobglt
(b) iron
(c) nickel

(@ zinc

69.'\ Depietion of oz‘one‘layer causes
" :(q)’ breast cancer
(b) blood cancer
() lung cancer <

(d) skin canéer ‘

70. Which is true for DDT?
(a)~,Gfe¢nhouse gas
(b) A fertilizer
| (c) Biodegradablé ﬁollutant

(d) Non-biodegradable pollutant

. 71. Dichlorocarbene is

(@) electrophile
(b) nucleophile
(c) free radical

(d) carbanion
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64.

65.

66.

67.

/5

No3%mﬁwﬁnﬁnaﬁ%
T BT .

(@) [Fe0)61**
(b) [FeNO)CN)s]2*

' (c) [Fe(H,O)sNOPR*

(@) [FeH0NOJs/?* ©

Ce ¥ Fad e el sreen &
(@) +2,+3
(b) +2,+4
c) +3,+4
(d) +3,+5

LiAlH, 1 [UPACTH R

(@) o e TS
(b) Torfeem FETegTee- g (L)
(o) rgtan ErergEe ol

- (d) TSR3y ffEn(n)

Br
e IUPAC m R

(@) 1-TTEga-2 um‘r -4 ahnﬁﬁm
(b) 1-TIR-2 -5 S
() 2-FRgHR-5-FAA=IA
(@) 1-w-3-smiere |

21

68,

69.

' 70.

i B, aRe Afe R
(a)"‘mﬂ‘ -

(b) T |

(c) ﬁmam

(d) T B

A e % O @ B R

(@) BTt 1 HFE |

)  wER
(o) e T
(d) =g 5 e

kDDT%Pcrqu%?

 (a) znqzm?ra
o (b) T TR

71

(c) wﬁéﬂ%aamﬂ%z
(d) AR e

. m% '

(a) TEFIHIE
(b) FFhAEE

© 3 Wb

(d) HrETEE

[P.T.O.
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72.

73.

74.

/S.

In the reaction

H*/A
CH—CHg -t .
OH

the major product is
@ =CH—CH,

(b) l

CH,CHj

@ (s

@ @'CHS N

Propene reacts with HBr in
presence of peroxide gives

(a) 1-bromopropane

(b) 2-bromopropane
() Both (a)and ()
(d) 2,2-dibrémopropane |

v ,
Which configuration ~ for the
compounds: - %

L. GHO

H—+——OH

‘CH,OH

is correct?

(a) R,R
() R, S
() SR
d S8

75.

76.

T

78.

Which of the following is a
polymide?

(a) Bakelite

(b} Terylene

(c} Nylon-6,6

(d) Teflon

Which of the following does not

reduce Benedict’s reagent?

(d) Glucose |

| (b) Fructose

(c) Suqfose '

(d) Aldehydes

Drying oil contains

(a) linoleic acid
(b) stearic acid
(c) lauric acid

a bufyﬁc acid

Use of hot air balloons in sports
is an application of

(a) Boyle’s law |

(b} Charles’ law

{c} Kelvin s law.

(d) Brown’é law"

*
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T2.

73.

74.

wierfgean A
(,l‘H._cﬂs M..,
OH o

ERCh o

(@) =CH—CHj3
CH,CH

(b) I 2%-18

@ (o

@ C Y

T e B R § HBr @
wfafen =@ e @

(@) 1-shes

(b) 2-FA

(c) (a)T (b) A

(d) 2,2-SHSEIR

Afires
) CHO
HO—+——H -

H———F——OH

CH,0H

1 PHA-TT GEA aﬁ%?

- {a) R,R

(b) R, S
() S,R
(d S, S

75.

W aFa A w87

77.

78,

e i & < defes ¥

(a) FraTR
(b) A=

() TEAA-6,6 '

(d) %tsaﬁ

Freferf & @ i AR 3 SR

@ =
(b) RS
(c) Gt

(d) TwETE

[P.T.O.
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79

- 81.

‘82,

/5

4.4 g of a gas at STP occupies a
volume of 2-24 L. The gas is

(@) O,

m) o
(c) CO,
(@ NO,

. A vessel is filled Wwith a-mixture of

O, and Nj. At what ratio of

partial pressures will the mass of

gases be identical?
(@) P, =8-75Py,
(b) Po, =0-78 Py,
(c) P, =0-875Py,
(d) Po,=11-4Py,

For the dry i;:é Exe CO; g

(@) AH 1s tve and AS is ~ve

(b) both AH and AS are -ve

{c) both AH and AS are +ve
{d) AH is —ve but AS is +ve
The sdlﬁﬁility of 2 gas 1n water
depends on

(@) nature bff the ga§

(b) temperature”

(c) pressure of the ga§ -

(d) All of these = =

24

83.

84,

Which of the following is- not
correct for ideal solution?

(@) ASpixing =0 -

) AVMng =0 -

(C) AH mixing =0

(d) It obeys Raoult’s law

pH of 10-8 M HCI is
(@ 8

(b) 6-98

7

(d) 59

85.

86.

A chemical reaction was carried
out at 300 K and 280 K. The rate
constants were found to be k,
and k, respectively, then

(@) ky =4k,
(b) ko =2k
(c) k,=0-25k,
(d) ky=0-5k

For a ﬁrst,—_brdcr reaction the plot
of log k against - is a straight

line. The slope of the line is equal
to ¢

(a) - Ea /R
(b) —2-303/E,R .
) -E,/2-303

(d) -E,/2-303R



www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

79.

@Hﬂqzﬂ4¢g STP‘-'R2§4L

IET AR

(a) Oy
(b) Cco
€ CO,
(@) NO,

@vﬁaﬁogémm%ﬁm%m

. TN R ifie qEE ¥ Rew o

At Ao o-wEe B

(@) Po,) =8-75Pp,
(b) P(Og) =0.-78 P(N2,);

' (C) P(02)=0875P(N2) o

81.

82.

/5

(d) Pioy) =11-4 P,

ﬁ@m_;coz(g)%a%&ﬁ« s
(@) AH TR auT AS fitRa &
(b) a:ﬁAHWASﬁﬁﬁa%
(©) A AH @ AS TREE

(d) AHﬁ'ﬁﬁa%ﬁﬁﬁASm%‘

mﬂaﬁqmﬁwﬁmﬁ%f{
Har

(@) NG H @E W
(b) WUHH W
(c) TG = TEE W

(d) I @t

28

mmﬁammﬁ:ﬁaaﬁmw

‘84,

LR

(@) ASpixing =0
(b) AVnmixing =0
(€) AH ixing =0

- (d) T 3T % TR e w3

1078 M HCl = pH®
@8
() 6:98

(¢ 7
(d).5- 9

.85, W UwEME W1 300K @

280 K W fn mn « fars Fu:

ke 3 ke W R, @

86.

(@) ky =4k,

(b) ka=2k;
(c) ky=0-25k;
(d) kg =0-5k;

S — logk
o lasaﬁawm%@% Rraam

o fmsawm

(a) -E /R |

() -2 303/E R
() = Eq/2-303
(d) -E,/2-303R

~ [P.T.O.
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87..

88,

Which is adsorbed in maximum
amount by activated :chgrcoal?

(@) -N,

(b) CO,
(c) Cl,
(d) O

The order of pH of 0-1 M solution -

of the following salts is

(@) NaCl < NH,Cl < NaCN < HCl -

(b) HCl<NH,Cl< NaCl < NaCN

* (¢} NaCN <NH,Cl< NaCl <HCl

89.

/5

(d) HCl < NaCl < NaCN < NH,Cl

Given,

Fe2* +2¢~ —Fe, E°=-0-440V

Fe3* + 3¢ - Fe, E° = —0:036V

FE S

then, .I R
E° for Fe:"’+ +e” —-)Fe2+

‘ o

will be

(@ -0-476V

(b) -0-404V

c) +0-402V% *

(d) +0-771V

L Py ROt R

The volume: of 1 M NH; and

1M HCl required to . . prepare

300 ml of a ‘Buffér'of pH = 9-26

(PK , () =9 -26) 1s

(@) 225 ml, 75 ml

(b) 200 ml, 100 ml

(c) 100 mi, 200 ml ;

(d) 150 ml, 150 ml - *

26

. @1.:The numbers ‘of radial nodes of

3s and 2p are respectively

(@) 2,0

(b) 0, 2

€ 1,2
d 2,1

“The orbital angular momentum

. of 4d electron is

93.

(@) J6n
®) \2h
() 2eto 2' |

(d) i2h |

Number of 5-bonds in P40y, is

@6

) 9
e 16

@ 20

. 94.

For the

equal to

(a) AU -RT |
(b) AU -2RT
(c) AU+ RT
(d) AU +2RT

feaqtion |
N, ')+ 3H, (g) = 2NH; (), AH is

L]
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87. T ww ¥ T el

88.

89.

90.

/5

saeie el A Ay
(@) No |

(b) COy

(c) Cly,

(d} Oy

ﬁﬂTﬁﬁWﬁ%OlMiﬁFﬁ%pH
FMFIR

(@) NaCl < NH,CI < NaCN < HCl
(b) HCI < NH4Cl < NaCl < NaCN

{¢) NaCN < NH,CI < NaCl < HC1

(d) HCl < NaCl < NaCN < NH,Cl

e g &, |
Fe2* +2¢~ —Fe, E' =-0-440V
Fe3* +3¢” »Fe, E' =-0-036V
@@, Fe3* + e~ »Fe?* & fm E’
am

(@ -0-476V

(b) —0-404V

(c) +0-402V

(d) +0-7T71V

sooﬁo'@ﬁom@w*ﬂam"

pH=9.26 %, = =« * g
1M NH3 @1 1M HCl, m R
M (pK ) =9. 26) |

(@) 225 ml 75 ml ‘

(b) 200 ml, 100 ml

(c) 100 ml, 200 ml

(d) 150 ml, 150 ml

27

91.

92.

3s td 2p ¥ wlw e den
ot Foreelt Bt 87
(@ 2,0 |
(b) 0O, 2
© 1,2

1

(@ 2

4dsﬁa§hw$&ﬁ§aﬁﬁmﬁén
gar B

93.

94.

() 2

(0 T
(d) J12h

P4010 ﬁ »vo-é%ﬁv 'ﬁ m 'ﬁi_(r;ﬁ |
At 77 |
(a) 6

b 9
16
d 20

rfvrfsrar

Ny (g)+3H3 [g)=2NH3 (g)
*WAHﬁ-jg%xwgmg?
(a) AU-—R% |

(b) AU -2RT |

() AU+RT .
(d) AU +2RT =

[P.T.O.
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98. Themelarity of pure water is

96.

(a) 55-6

(b) 5-56

| c) 6-55

(d) 65-5°

Which of the following is used aé
antacid?

(@ Mg0
(b) Mg(OH),

(c) MgSO,

+ (d) MgCO;3

97,

/5

Which  of the

‘ follovving
compounds. will pfbduce the

most stable carbocation?;
(a) CH;—CH—CH,OH
'ciia e e

Vit

(c) CH3 1-1--0}12,---0}13
OH
(d) CH;—C—OH: e

CH3 L -0 5

9.

99,

..(b)

“The reaction of CH;— CH==CH2

with HOCI will yield

{a) 2-chloro-1-propanol
(b) 3;chloro-2-proparrol
(¢) 1l-chloro-2-propanol
(d} 1-chloro-1-propanol

Which ' of the following phcnols is
the strongest acid?

fa)

H3C . \N02
0 "Yor
. H3C " SOH

100,

HO _~CHs
(d '
. N02

. CHz

_Wh;ch one 1s _an example of
rmceller system?

(a) Protem and - Water

(b) Soap and water _

{c) Rubber and benzene

(d) Aszo3 and Fe(OH)3 |

L 7

’.-«r’wij.‘_ . ;79
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95. & 9« Fl WeRar et g - 7

96.

(@) 556
(b)- 5-56
) 6-55

(d) 65.5"

P &  fram i f-awer

% wY ¥ -for S 27

(a) MgO

(b) Mg(OH),

" () MgSO4

97.

/5

(d) MgCO3 .

Frafafaa 3 ¥ SF-@ e aaite
TR TR o9 AT 87
(@) CHy—CH—CH,OH "
b
(b) CHz—CH,—CH,—CH,—OH -
(c) CH, H—-CHz-—ICH;,,
OH
CH,4
(d) CH;—C—OH
CH,

‘98. CHj3-CH=CH, ® HOCl % @

99,

'100.
3T R

o HO ¢ CH3
(d)

iR ¥ woaew frafafas 4 @
FH IS qar '7

(@ 2-FAQ-1-TaEA
(b) 3-FARN-2-NIHTA
() 1-FaR-2-sr
(d) 1-FR-1-N9ETd

o 3 & A e e
Inhia gar 37 -
Hj
QH
(@)
. HsC
NO,
Hj
OH
Z
“NCH,
NO,

H,C _NO,
(
HiC OH

~ CHy
P & ¥ A Per w@R =
(a) Sﬁ?ﬁ?@m
(b) W T T
(c) TR TE S=fA
(d) As;0O3 W Fe(OH)3

[P.T.O.
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- SPACE FOR ROUGH WORK

It

k7]

Boan

[P.T.O.

rrreen g
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